GONDIA EDUCATION SOCIETY'S



MANOHARBHAI PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE



SADAK ARJUNI, GONDIA-441807

(AFFILIATED TO R.T.M.NAGPUR UNIVERSITY)



QnM-2.5.2: Mechanism to deal with internal examination related grievances is transparent, time- bound and efficient





MANOHARBHAI PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE

SADAK ARJUNI, Dist. Gondia.(Maharashtra) 441807

Affiliated to Rashtrasant Tukdoji Maharaj Nagpur University, Nagpur

E-mail:mbpatelsadakarjuni@gmail.com Phone (07199) 233224

336 Ref.No. MBPC/ /20222023

Date: 2810212023

Declaration

The information, reports, true copies of the supporting documents, numerical data, etc. furnished in this file is verified by IQAC and found correct.

Hence this certificate.

Mr. A. M. Patil
IQAC Coordinator
Manoharbhai Patel College
Sadak Arjuni



Dr. A. S. Dwivedi Chairman IQAC and Principal Manoharbhai Patel College Sadak Arjuni

WINTER-2019 REVALUATION APPLICATION FORM (STUDENT WISE) RASHTRASANT TUKADOJI MAHARAJ NAGPUR UNIVERSITY

Exam Name: FIRST SEMESTER BACHELOR OF SCIENCE (B.Sc.) College Name: M.B.PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE COLLEGE

							<u> </u>	
	7	6	95	4	ω	2	1	Sr.No
	805284	805280	805252	805195	805190	805171	805163	Roll No.
	VANDANA UDARAM MENDHE	TWINKAL YADORAO KORE	MONIKA VILAS UPARIKAR	RIBAKA LAXMAN KAMBALE	PRIYA MOHANLAL SHIONKAR	LOCHANA OMESHWAR MUNGMODE	HUMESHWARI DHANRAJ PARSHURAMKAR	Student Name
Total	ENGLISH	ZOOLOGY (PAPER I)	ENGLISH	BOTANY (PAPER I)	BOTANY (PAPER II)	BOTANY (PAPER I)	ENGLISH	Subject Name1
	14	4	15	7	17	18	17	Subject 1 Marks
		ZOOLOGY (PAPER II)		BOTANY (PAPER II)		BOTANY (PAPER II)		Subject Name2
		18		17		10	11 to 1	Subject 2 Total Marks Subject
10	1	2	4	2	A.	2	_	Total Subject
	150	150	150	150	150	150	150	Revaluation fees (per paper)
1500	150	300	150	300	150	300	150	Total Amount
				4				Remark

(FORM AS-1)

Control ID:

RW19/578/164424

College Code: 578

N. Principal Signature & Stamp

Date: 22-02-2020

Total Amount Rs.: 1500

RASHTRASANT TUKADOJI MAHARAJ NAGPUR UNIVERSITY WINTER-2019 REVALUATION APPLICATION FORM (STUDENT WISE)

(FORM AS-1)

College Name: M.B.PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE COLLEGE

Exam Name: THIRD SEMESTER BACHELOR OF SCIENCE (B.Sc.)

RW19/578/164425 Control ID:

College Code:

Sr.No	Roll No.	Student Name	Subject Name1	Subject 1 Marks	Subject Name2	Subject 2 Marks	Total Subject	Revaluation fees (per paper)	Total Amount	Remark
1	831136	MINAKSHI WASUDEO NAROTE	ZOOLOGY (PAPER II)	2			1	150	150	
2	831170	SUNITA RAMKRUSHNA SAYAM	CHEMISTRY (PAPER I)	19	CHEMISTRY (PAPER II)	10	2	150	300	
3	831178	VANDANA UDARAM MENDHE	BOTANY (PAPER I)	8			1	150	150	
4 .	831188	MAHESH SAMPAT MADAVI	ZOOLOGY (PAPER I)	18	ZOOLOGY (PAPER II)	8	2	150	300	
6 5	831214	VISHAKHA OMKAR KOCHE	CHEMISTRY (PAPER I)	17	CHEMISTRY (PAPER II)	11	2	150	300	-
			Total				8		1200	

Total Amount Rs.: 1200

Date: 22-02-2020

Principal

N.B. Fincipal Signature & Stamp & Science College, Sadak Arjunt.

RASHTRASANT TUKADOJI MAHARAJ NAGPUR UNIVERSITY WINTER-2019 REVALUATION APPLICATION FORM (STUDENT WISE)

Total

(FORM AS-1)

Control ID:

RW19/578/162239

College Code:

578

Sr.No	Roll No.	Student Name	Subject Name1	Subject 1 Marks	Subject Name2	Subject 2 Marks	Total Subject	Revaluation fees (per paper)	Total Amount	Remark
1	722106	MANISHA PRAMOD KURSUNGE	BUSINESS ECONOMICS	21		1	1	150	150	
2	722109	NILA UMRAO MENDHE	COMPULSORY ENGLISH	21			1	150	150	
3	722154	SNEHAL GAUTAM WASNIK	COMPULSORY ENGLISH	2		- 2	1. 1	150	150	

Total Amount Rs.: 450

College Name: M.B.PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE COLLEGE

Exam Name: FIRST SEMESTER BACHELOR OF COMMERCE

Date: 08-02-2020

Principal

M. Principal Signature, & Stamp

& Science College, Sadok Arjun.

RASHTRASANT TUKADOJI MAHARAJ NAGPUR UNIVERSITY WINTER-2019 REVALUATION APPLICATION FORM (STUDENT WISE)

(FORM AS-1)

College Name: M.B.PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE COLLEGE

Exam Name: FIFTH SEMESTER BACHELOR OF SCIENCE (B.Sc.)

Control ID: RW19/578/161104

College Code: 578

Sr.No	Roll No.	Student Name	Subject Name1	Subject 1 Marks	- Joet Name2	Subject 2 Marks	Total Subject	Revaluation fees (per paper)	Total Amount	Remark
-1	845919	ASHWINI MANIRAM SHENDE	CHEMISTRY (PAPER I)	13	CHEMISTRY (PAPER II	11	2	150	300	
2	845935	NILEEMA NANDLAL THER	CHEMISTRY (PAPER I)	15	BOTANY (PAPER II)	9	2	150	300	
3	845940	RUKMINI RAMESH CHUTE	CHEMISTRY (PAPER II)	. 3			1	150	150	
4	845955	KOMESH CHAITRAM ZODE	BOTANY (PAPER II)	1			1	150	150	
5	845956	PRASHANT ANANDRAO UIKEY	CHEMISTRY (PAPER I)	10	CHEMISTRY (PAPER II)	9	2	150	300	
	- 1		Total				8		1200	

Total Amount Rs.: 1200

Date: 04-02-2020

Principal
M. Brincipal Signature & Stamp
Science College, Sadak Arjun'

RASHTRASANT TUKADOJI MAHARAJ NAGPUR UNIVERSITY WINTER-2019 REVALUATION APPLICATION FORM (STUDENT WISE)

(FORM AS-1)

Control ID:

RW19/578/157937

College Code: 578

College Name: M.B.PATEL COLLEGE OF ARTS, COMMERCE & SCIENCE COLLEGE

Exam Name: FIFTH SEMESTER BACHELOR OF COMMERCE

Sr.No	Roll No.	Student Name	Subject Name1	Subject 1 Marks	Subject Name2	Subject 2 Marks	Total Subject	Revaluation fees (per paper)	Total Amount	Remark
1	759044	NIKITA MANOHAR GOBADE	FINANCIAL ACCOUNTING-IV	14			1	150	150	
2	759048	ASWIN TARBABU MELE	FINANCIAL ACCOUNTING-IV	21	COST ACCOUNTING	15	2	150	300	
3	759054	KHOMESH VIKASH KHOTELE	FINANCIAL ACCOUNTING-IV	20	COST ACCOUNTING	17	2	150	300	
			Total				5		750	

Maria Amount Rs.: 750

Date: 29-01-2020

Principal
Principal Sippatura Steen & Science College, Sadak Arjuni.

							ļ			
				iller,			4.16.	\$ £7£	3	
Cr.No		UPO n. ru	English (Edited)	: II juut 1 Marks	Ent je ti Namic2	Subject 2 Marks	Total Subject	Revaluation fees (per paper)	Total Amount	Remark
1	341310	CHETNA PRAMOD IRLE	CHEMISTRY (PAPER I)	15	CHEMISTRY (PAPER II	9	2	150	300	
2	341318	KALYANI KAILASH	CHEMISTRY (PAPER I)	8	CHEMISTRY (PAPER II	2	2	150	300	
	-	BRAMHANKAR	Total				4		600	
						1		25	8	
Date: 1	9-12-2019							Principal Signal	ctpal nature & S ts. Comm e. Sadak	Stamp erce Arjuni.
Date: 1	9-12-2019							Principal Side	etpal nature & S is. Comm e. Sadak	Stamp erce Arjuni.

	2	0 00		11
पुनर्मुल्यांकन	कराता	विद्याध्यानी	प्रस्तृत	कलल्य

**	
विद्यार्थ्याची यादी	
	महाविद्यालय क्रमांक578
महाविद्यालयाचे नाव :-	M. B. Patel college, Sadak Arguni
परीक्षेचे नाव/वर्ष/सत्र :-	B.Sc Second Gem- [Sum-2019]

अ. क.	विद्यार्थ्याचे नाव	पुनर्मुल्याकन शुल्क (प्रती पेपर)	पेपुरची संख्या	एकुण रक्कम	शेरा
OΤ	Ku. Anita y. Shivankar	150	OT	150	
1 2	Poemery C. Kapgate	150	02	300	
03	Ku. Sunita R. Sayam	150	02	300	
04	Ky. Twinkal E. Zingare-	1.50	02	300	
05	K4. chandani M. Likey -	150	02	300	,
06	Ky. Chetan J. Raut	150	02	300	
07	Ku. chetna P. Irle -	150	- 02	300	
08	Ku. Damini A. Chandewas	150	02	300	
09	Ku. Himami M. Badole	150	02	300	-0.1-
10	Ku. Jayshoi S. Chaudhari	150	02	300	. <u>C</u> 1
\sim	Ku. Jing S. Bodhankar	150	02	300	
12	ku. Khushbu S. Kore	150	ОТ	150	· · · · · · · · · · · · · · · · · · ·
13	Prushant A. likey	150	02	300	
14	K4. Yogita R. Bhendrokar	150	. 02	300	
		,			The state of the s
	Sgool-by each		141		3.
			i		
	12/08/19				
	, एकुण	2100	26.	3900	

(टिप :- वरील रकमेचा समावेश डि.डि. क्रमांक ... Cash ... दिनांक LD 08 19 क्र. 39 00 /- मध्ये क्रेलेला आहे.)

दिनांक .13 | 08 | 2019

पुनर्मुल्यांकन करीता विद्यार्थ्यांनी प्रस्तुत केलेल्या

विद्यार्थ्याची यादी	
	महाविद्यालय क्रमांक 578
	M. B. patel college. Sodak Arojuni
रहाविद्यालयाचे नाव :-	E 6422 20107
ਸੀ थੇਵੇ ਜ਼ਰ /ਰਓ /ਸਰ :_ :	B.Sc IV Sem [Sum 2019]

अ. कु(विद्यार्थ्याचे नाव	पुनर्मुल्याकन शुल्क (प्रती पेपर)	पेपरची संख्या	एकुण रक्कम	शेरा
2T	Ku. Anjali R. Shende	150	02	300.	
	Ku. Himani M. Badok	150	02	300	
23	KU. Khushby S. Kore	. 150	02	300	
14	Ku: Ruchika M. Kanhake	150	62.	300	•
25	Ku. Tegaswini y. Kirnapure	150	02	300	•
			X A		
-			,		
			•		
	,				
				- 3	- case
			- 1.4		
	. एकुण	750	T0	1500	

(टिप :- वरील रकमेचा समावेश डि.डि. कमांक ... Cash ... दिनांक 10/08/19 क. 1500/ ... मध्ये केलेली आहे.)

पुनर्मुल्यांकन करीता विद्यार्थ्यांनी प्रस्तुत केलेल्या

					महा।	वद्यालय क्रमायाः				
मह	हाटि	वेद्यालयाचे नाव :-			ollege, so					
पर्र	तेक्षे	चे नाव/वर्ष/सत्र :-	B.5c	sixth	Sem-	54m-201	97			
3 ³	₹.	विद्या	र्थ्याचे नाव	: 1	पुनर्मुल्याकन शुल्क (प्रती पेपर)	पेपरची संख्या	एकुण रक्कम	-	शेरा	
	7	Sumiter I). Taro	ත්ද	150	02	300			
					,			-		;
\rightarrow					,				·	
	1	.10 .			1 2 E	militar et -			ě. i	
		-								
		t _e	(de		,	٠.,				:
		ANT ACT			ť	12 - 2 5	0.70			
										¥-
							•	2.2		
	_	*								

(टिप: - वरील रकमेचा समावेश डि.डि. क्रमांक ... COSh ... दिनांक 06/07/19 क. 300/- मध्ये केलेला आहे.)

. एकुण

150

02

दिनांक 08/07/2019

विद्यार्थ्याची यादी

My चित्रां Arts Commerce

300

पुनर्मुल्यांकन करीता विद्यार्थ्यानी प्रस्तुत केलेल्या

विद्यार्थ्याची यादी	• .				
		T,	महाविद्यालय द	_{क्रमांक} 578	
महाविद्यालयाचे नाव :-	M. B. Patel	college, (Sadak	Aojuni	
	B.Sc Fire	+ Sem-	Sum	- 2019]	
परीक्षेचे नाव /वर्ष /सव :-					

अ. क्र.	विद्यार्थ्याचे नाव	पुनर्मुल्याकन शुल्क (प्रती पेपर)	पेपरची संख्या	एकुण रक्कम	शेरा
97	Ashit R. Gudpayle	150	02	300	,
02	chetog p. Iola	150	02	300	,
23	chetak H. Pusam	150	02	300	
04	Kamal y, Sakhase	150	02	300	
05	Pranoy C. Kapgate	150	02	360	
. 06	saping s. mungmode	150	.01	150	
07	vandang 4. mendhe	150	OT	150	
08	voushall c. Badole	150	02	360	
09	yakesh s. Pardhi	150	02	360	
10	Sunita R. sayam	150	01	150	
	۸۰	- Marc. 18			
	1 MK 1 MK	26			\$1
	. एकुण	1500	上 字	2550	

दिनांक 17/06/2019

पुनर्मुल्यांकन	करीता	विद्यार्थ्यानी	प्रस्तुत	केलेल्या
----------------	-------	----------------	----------	----------

विद्या	र्याची	यादी
		7191

महाविद्यालय क्रमांक ... 5 7 8

महाविद्यालयाचे नाव :-

M. B. patel college, Sadak Agruni

परीक्षेचे नाव/वर्ष/सत्र :- -

B.Sc III Sem - Sum- 2019

			.1		
अ. क.	विद्यार्थ्याचे नाव	पुनर्मुल्याकन शुल्क (प्रती पेपर)	पेपरची संख्या	एकुण रक्कम	शेरा
1	Damini A. chandewas	150	02	300	
2	Komesh c. Rode	150	ΟT	150	
	Khushby G. Kore	150	02	360	•
4	Nalina R. Bhendarkar	150	02	300	
5	Sangita M. Kapgade	150	02	300	
6	Tomeshwar G. Lunge	150	οL	150-	Bara apromis
, in the			5		_ /
					4
			* 3		
				- w	•
	the term of the second		1-1		
		* ***		41 - 420 - 271	
				1 1 1 1 1 2 2 2	
-		*			
	. एकुण				

		1	, ,		
(for		cash	DE 106/2019	7.500	F
(टिप: - वरील रकमेचा समावेश डि.डि.	क्रमाक		दिनाक १९१ / १८ / १८ / १५		/∴. मध्ये केलेला्र आहे.

दिनांक .06/06/2019

Mप्रीविधार्ची सही के शिविकार Truni.